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Lnrnrupru\ruL qpruuhtr;ru\trьpb \n1ilbg lrnurrupur\rulr

Ьшnru3nrр3nrhtrhp \rutrrruph1nt, lrnurrupru\шtr \urpqn{
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чhrnnrp3nrlrlrhp}r inh1ru\rutr frtlptrru\urnurt|шptIшlr
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0,0 Х

1230
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ri}r2ruqqru1}Ir \ruqrlru\hpчnl.p3nttrbЬp|rg \tuч}шur1
Ьru}uuhp[r ф|rburlruш{nprlrulr trчrrrr'rrru\nt|

0,0 x

1250
2.5 tlrprug}r\ trhpp}rtr чul2urnlrru\rutr цprutiur2lrnphtrhp
urrrшg{ruЬ \runru{ruprfrutr ru31 rfrurrrш\rupurphhp|tg (шnr1

1251 + rnnq 1252 + urnrl 1255 + urnrl 1256) nplg'

7ЗЗ1 349 264,1 349 264,1 Х

1251
ru) .IlЬшru\rutr 

р3nt2Ь|rg ф}lrruLuru\rutr
hrudurhrupphgdrulr u\qpnltrpnr{ r.rrpruriruruцpr|n1

4nшurg[rшttЬp

349 264,1 349 264,r

t252 р) nhrrrru\urlr p3nth}g rnprurfш1pr|nl шJL r}nшшg}tuLhp
(urnц 1253 + rnnц 1254) ur1ц pr|nltl.

0,0 0,0

1253

pru) lшriru1trp|r p1nr.2Ь}r h\ruilntrnlrЬpp trt|iuqЬgLnц 2'Z

opЬt-rpLhp}r \}rprunrlurtr rupцntlrpnrtl hruriru3trp} р3nr2h}t

h\rudnrrлlrЬp}r \npnrurntrhpfr чЬшntp3ruh \n1d}g
фn}uhrurnntgr|n1 qnrrlшplrhp

0,0

1254
рp) Ц31цnrnrug[rtuhhp

0,0 Х

1255 q) тlhшru\urtr pJnt2h}rg rnprur.turцpr|nr1 lrчrurnru\ш1}lr

hrurn\rugnrrltrhp (untprlЬlrg[шLhp)

0,0 Х

1256 ц) 2l ru31 hurrfru3lrpLhp[r p3nt2hbtp}rg вlrршgl'Ч 2ш}uuЬp}t

ф[rtrrutrurur|nprfrutr lrчulrnru\nri uшurg{n1

чru2urnlrru\rul, +p*,jчzt'ец!Щц-

0,0

1260

2.6 Чruч[rrnur1 lrhpp}rtr чru2rnntrru\rulr

цpruriru2trnphtrhp. uшrugr|ruЬ \runrur|шpdrrrtr ш31

dru\rupцш\hhp}rg
(rnnr1 1261 + urn11262) ru1r1 prlntrl'

/ JJZ 0,0 0,0

126r
ur) тlhrnш\шL р3nt2h[rg \ruчirrnru1 Ьrul"uhph

ф$rrutruurr{npiltutr trчurrrrru\ru1}rtr hurrn\urgnrrl1rhp

(untрr|ttrg}rшbhp)

0,0 Х

t262
p) lZ ш31 hrurfru3trptrhp}rg \шч}rrnru1 Ьtulouhpi'

ф}rtrrutrurur|nprftrшIr lrчшrnur\nr| urnrug{nц

чr.u2rnnlrш\rulr цprrrdur2lrnphLhp 

-

0,0 Х

1300

3. ц3L bЧцuпt'SLbг
(rnnr1 1310 + rпnr1 1320 + шnr1 1330 + rnn1 1340 + rnnr1 1350

+ rnnr1 1360 + r'nnr1 1370 + rnnц 1380 + rrrnr1 1390) ш1r1

rarlnцI'

7400 27 З79'0 27 З79,0 0.0

1310
3.1 Sn\nutrЬp' ru1r1 p{nlut

7471 0,0 Х 0,0

1311

ophhpnr{ hш}ururnЬur|ruЬ r1hчphpntrl рurlr\hpnrtf
hrutfru1lrp} p1nr2Ь}r drurirulru:\шr{n} шqшш rf[r2ngbhptl

urhr1rupru2}unlrl|rg l.r цhчnq}rurLhp}rg urnrug{шЬ

шn\nuurr|dшPfuьР ---.--

0,0 Х

1320
3.2 Cruhrupiud}rLbhp' tu3ц p{ntd.

74t2 0,0 0,0

t321
trurdtrhrn}rpш\rutr plr\hpnr.p1nrblrhpnrri hшriш3Lp}t

rlшutrru\gnrp1rulr ц}rriшg hrurtur3trp]r p1nt2t \шrnшp{nr1
r-[rцuhшlrnr.ritrhp (2ruhrшprud}hhhp)

0,0 х

1330 3.3 enчp|r r|rup&ru\ш1nrp1nrtrlrЬp}rg h\rudnrrnlrЬp (шnr1

1331 + rrrnr1 1332 + rnnr1 1333 + urn1 1334), rrr3ц Prlntil'

74I5 74 404,5 t4 404,5 Х

1331 2rurfru1plr[r uhфru\rulrnrр1nrlr hшrIrup{n1 hn1hp[t

r] rцp&rцhru1 nrр1rutr r] rup&ur{6ulpLhp

|З 479'5 1З 479'5 Х



1332
lurrlru1p}r r|шpJ.ш\ruti шrupur2pnrrl qшtrr|nr1 чЬtnru\rult

uhфru\ruhnrp1ntlrhruriurpr|n1 hn1hp}r r{rupД'ru\ru1ntp3шl-l

r|rupД.tut|6шpttbp

0,0 Х

IJJ,)

lruf ru1lrp}r {rup&ш\rulr шrupur2pпr.rl qшph{nц

чhrnnrp3rrrlr 1r hrurfru1lrpfr uЬфur\шlrnrp3rulrц

чruur\rutrnr1 hnr1ru{ruuЬp} \runnr-gruчruurrlшIr

}rprur|nttrp}r цt'rlrug qurp&r{nц r|rupd.шr|6шpbhp

0,0

1334
ЦL qo.:ph r|rup&ru\ru1nrр1nr-tr|rg tinrurptp

925,0 925,0 Х

1340
3.4 lruriш3pfr p3nt2h}r Ь\rurfnr.rntrhp ruчptuliphhp|t

rlurrnru\ruprupntrf}rg lr 2runru3ntp1nrtlLhp|r riruшnrgnrti}rg

(rnnr1 1341 + urnr1 1342 + urn1 1343), tu3ц рr|nrd.

742r 0,0 0,0 Х

1341

Zrudur3lrp} uhфru\rutrnrp1nrl-r hшlщ}ruurgnr1' ш3ц p{nltf
rrr}purqnr.p\, hrurlru1lrp}rtr npчtu uhфru\шtrnrp3nrlr

rulrgшЬ ruчprutrplrЬptr (PшgurnnrpJrurlp h|rrft-rru\ruL

,ihz.'g, n2 tr3nlpru\ullr \rud рrпpД'prupdhp шЧшI',l
hrutrц}urugn1, [rtr2чhu lrrulr hruilru3lrp} чruhnrurnlrhpntd

чruhr|nr1 ruчpurtrprulr1nr-pru\urlr шpdtpbhp})
r]rц6шnphg b1nrрhp

0,0 Х

1342

.tlhurnr.p3rulr Ч"'till's rnh1ru\rutr }rtrpLru\runru_r|ruprltult
f ruprf}rlrtrtp[rL чшrnфpur\{urЬ фurqnpnrp3 nttrlrhp|t

}rpur\шtrrugtiruh 2ru[шuhpfr ф}lrrutruurr{nprlrutr hrudшp

щhшrцhrrrL нnr.яhhg uшruоr]nц il}r2nghhц

0,0 Х

1343

ophtrpnr| uruhrfurtr{шЬ цhчpЬpnr-il hrudш1lrpш1|ttt

h}rrllrurp\trhpt' Ч"'t.il's runrulrg rnЬ1ur\шtr шnrpp}r

qшtr&trrlrutr f rurnnщr{n1 Ьrunur1nrp3ntlrLьp[ \uttl

\ruшrupr|nr1 qnpЬnцntp3ntlrLЬpir цl'ilшg uurrugr|nц
(qrцb&r]nц) ru11 r]6шptrhp

0,0 Х

1350 3. 5 .ltup2ru\rutr qrutrДnr{trhp

(urnц 135l + шnц 1352 + tnnr1 135?) ш]rl P{nrrl

7422 12974,5 t2974.5 Х

13s1

Sh1ut\шt-r {druphЬp (rпnr1 13501 + urnr1 13502 + шnr1

13503 + rrrnr1 13504 + шnц 13505 + urn1 13506 + rnn1 13507

+ rrrnr1 13508 + rnnq 13509 + rrrnr1 13510 + rnnц 135ll +

rлnr1 13512 + rrrnr1 13513 + rnnr1 l3514 + urnr1 13515 + urnr1

13516 + urnr1 lЗ517 + rnnr1 13518 + rnnr1 13519+ шnr1

13520) rulц рr]nrd.

12974,5 12974,5 Х

13501

2.urilur3trp}r rnrupruЬpnlr.I 2Ьlrp|r \turi 2frlrnrр3шtr
rupшrup$r шhupц фnфn}unr1 r|hpru\runntgdшL

ш2}uruшrutrplrhp \rurnruph1nt hhш \ruч{шЬ
rrrh}utr|r\ururLurhuш\urlr чш3rlrutrtrЬp rf2ru\t1nt L

hruuшrurnЬ1 nr. hrutiurp

0,0 x

13502

&rupr'nrupruчhrnur2}rlrru prupru\ruh trru}uruqЬru1 [rL

фruurnrup1phpnr{ trur}uшurhur|urЬ 2}r1r. pnч1rnr|nrр1nt.tr

чruhrulr2n1, pn1np 2}rlr. ru2}uшurшlrplrhptr

frpш\urbrugtrh1nrg hhrrrn 2ьttphp}r 1r 2[rtrntp1nrLLhp} (ut3ц

рr|nl.tl. 1pшlrg r|tpru\runnrgnl.rIц, r|Ьpш\rulrqlrnr{p'

nldt1urgnrilp, rupц}rru\rutrtugnttfц, plrr1цu1lrnrrlЪ nt
prupt\rupqnr-riц) \urnnrgrfrutr rur{ruprпц rur|шprnru\rutr

ш\rnnr| фururпruqpriruL Д'lrru\Ьpчrfrutr hrur.f run

0,0 X

r3503

6'ruprrrrupruчhrrrш2}rburршpru\rub Lru}urпqЬru3 }lt

фruurrrшp1phpnr| l.rш}ururnЬur|шЬ ru2|urrrururhp_hhptl

ru{urprnt1ntg hЬr.rrn 2ruhulqnpЬrirulr pnr31rrrr|nrp3rutl

&lrrцhЬnщrlrцlr hrudшn

0,0

13504

2.ruriur1lrp} urlrop}rtrntp3urlr 1r oqinurqnpЬrlшh trЬppn

qrnLшln1 hnqhpp huln\rugtrhlm, hhur rlhpgtrhlnt h

r|rup&ru\ш1ntp3urlr rnprurfrur1ph1nt цhчphpnr{
фuruurrup1phpt' (фruрьрtr) lrur[uruчrurлrpruurnrfrrrlr

hulriшp

0,0 Х

1350s lrur.Iш1trp}r Ч"1.{hs \ruqrfru\Ьpчr{n1 ilpgnl.3p-fu hp} L

rцdntрцlrhтrh rIruulrur\ gntp1rutr hruilrup

0,0 Х

13s06 2rurfru1lrp}r r|rup2ш\rulr шrupruЬpntrl urnhrur|rudrunbhp[tl
(r|Ьplr[ruшdLtp}rtr) riшutrru\gt1nr hurriulp

0,0 Х



13507
Zurrfш1lrp}r Ч"1,jl,s tu1pruhurlrntp3rutr r{6шp r|6urpn1Lhp}

hurrirup urr1рurhurlrnrp1ruL ru2}ururnrutrphhpp

L шo rirцL tnш Ьl nt hurrlrup

9 930,0 9 930,0

13508

Zшtlru1trp}r Ч"ц,jt'g frpшr|ruрrutrru\rulr urlr&urtrg \urrf
urlrhшrn &Ьnlrrup\urrnhphp[rtr 2}rl.lrupru-pru\шIr L }un2np

Ьqpur2u.rф}r шщ[r hrur{шprirulr lr фn}uru1priurlr' }rlt2чЬu
lrrulr ru1рuhrulrnrр1ruh r|6rup r.{6urpn1Lhp$t

2}hшprupш\rutr 1-r }un2np hqцш2urф[r шцp|r |rtrptrntpnr3lt

hur{ulprlruh 1r фn}uurцprirulr рnr31rnr{nrPJrulr hrurIшp

0,0 Х

13509 Чhtrrлpnlrrugr{urЬ 2tnnrgdrulr hшdutp
0,0

13510

9prfnц-\n3nцnr hш{rup ru3b hurrltu3trpbbpnril, npnlrp

I-rbprunr|ruЬ 2hlr 2prfnч-\nJnL\nL Ьrunru3nrp1nr.lrlrЬp

rlrurnnlgnr1 oчhpulrлnp \urqilur\Ьpчnrp3nrhlrЬp|t
uчruurup\{urlr tnrupurЬplrЬpnrrf, rfшutrrпr{npulчhu

2prutfruurur-\urpшprIurlr lr 2pшhhnrugriurlr r|6ruplrЬp

100,0 100,0

1351 I

Пnnqrirulr 2p}r rfrurлur\ruрrupriшlr hrurlrup ш1tr

hurfru1lrplrЬpntrl, npnbp lrЬpurnr|ruЬ 2Ь1r

<<9poqrnurqnpЬnфlЬp}r pb\tpntp3ntlrlrtp[ tl

on опr n ttl nnnЬnnlrЬnh ntrLhnnrrоlntlrlrЬnh

0,0 Х

il}rnrp3nttrtrtp|r rfruu]rh>> 2.ш1ruul'nrrr1r}r

2.шtrpruчhrлnrp3urlr optlrp}r hruilru&ur1lr uшh1Ьt|tuЬ

2poqr.rrшqnpЬn1bЬp}r ц1r\hpnlp1nlL_lrhp}r uчuruurp\tiшl:
rrrrunшЬplrhnnrrI

13512

аuruurfrp[ Ч"цJt's \runulr|ruцr|щ purqrlurphur\urpurh

2ьliphp}r ptrцhrutrnr.p ршdhru3[rL uhфiu\rutrntp1rut-r

чruhчurtrdrulr чurprnrur1frp Lnprfhp|r \rurnruprfrulr
hrurftun

0,0 x

13513 Zшrlru3trpш1|rlr hbрru\ru3ntp3ruL riru1r\ruчrup-шhq|t

Ьurnur1nl.p1nr-lr}rg oqurr|n1Lhp} hiutlutp

2З52,o 2352,0 Х

13514

t*uчt,p*1}tr htrpru\ru1nrp1urlr ruptnruцчpngru\шtr

цruuur}rurpru\nrp3 rutr hururrrruurnrp1 nr.lrtrЬp}t

(hprud2rnru\rutr, tr\urp2ru\ruh 1r urpr|Ьurrr}r цчpnghЬp l-t

rl l l r l t \ hl t l nl l t ln l ъr nrl-rtrЬnho oorrrr] nnlrhnh hrudrup

чq? 5 чq? Б x

- 
l lшriru3lrp}r r{urp2ru\urb шrupurЬpnrrl, uur\ul1lr hшriru3Lp}

| 1Lul\шr|ur1php|rg цnlpu qr.nhr|nц. ur{ruqшfu nr npn2rlrutip

13515 | ьrutrpru1|rtr hurhqurп|r {ur1p uurhilшtrr|rub tr hruriru3hp}t

I hnц.Ihg \uld hruriru3lrp} чruш{hpn{ npчhu hrulrpru1}rtt

| ь*r'qйр qur1p \urhrur{npr|ruЬ r'nrupruЬpnпi цhrnrulrh\ruh
l Lrur-t onnЬlrшb urlr rJhynqшnnrrllrhp rulrg\ruglrh1nt hrutiurp

0,0 Х

13516

Zшrlru1hpur1[rtr uhфru\шtrnl-p1ntlr hruhт1}ruшgnrl

чrurnrintр1urlr 1r rf2ur\nr3p}r ruh2rupd hnr2шp_&rubtrhp} l:

hurtlru1lrpru3[rL hhpur\ru3nlр1rulr prutrqrupurbtrЬp}t

rintrnp}rh*Щ

0,0 Х

t3517

Zrurfru3hptu1|rtr uhфru\rutrnrp1nrlr hшLr1}uшgnrl

plrцhurtrntp oqururqnpЬriurh фnr1nglrЬpnrtl lr

hpшчruрru\Lhpnttf (purgшnnl-p3шrfp рtu\ш1[b
rrrшpruЬpl-rЬp}r, nrunl-rflrru\шL, \ppш\ruL, {2ru\nlpш3$t

lr шnn12urчшhш\rulr hruurnurrлnlp3ntlrlrhp[r, чhшru\rutt

\runrur|ruprIrirlr 1r r.nh1ru\ruh |rtrpLru\шnrur|rupilшlr
rIшpii}Llrhpir r|rup2ru\rutr 2htlphp}r hшpш\}g

urшpruЬplrhp}r) шr|tnnrлprulruчnprrrш3|rlr ri}2nglr

rцr] rnnh u.rlurlrurшЬц ntrI Ч*:*l,tдL t'*ЩЕ--

0,0 Х

13518 lurrfш1trp}r шРlubфs фшutnrup1php]r чrurn6ЬttLhp
шprrrrlrur1ph1nt hrudrup

0,0 Х

13519 lurilш3lrplr uчruurup\n1 шtrшulrrupnr1d}t
Ьrlt nrlltnr rаtnthl-rЬnh nhrIruq

13520
Ц31 rnh1ru\rub r|6ruptrhp

1З52
tul{ru3trp}r {rup2ru\rutr шurpurЬpnr.ti |rLplrru\rutf

\шnnr-gr|ruЬ 2ьlrphp|r, 2}rlrntp3nttrtrtp}t
op}rlrru\ ruhrug,t,ut, hu'ltщд ф,'!Щl-

0,0



IJ)J lrurlur1lrp}r p1nr2h rlntrnpшqpqn\ ru11 r{urp2ш\шh

qruh&nr-rihhP

0,0 Х

1360 3.6 Unrшphp rлnldЬp}rg, rnnrqrutrphhppg
(rлnn 136l + rлnn 1362) rцln rоr.lntr.[.

74з1 0,0 0,0 Х

1361

.{rup!ul\шl: }rprur|ru}uru}uunrrilrhp}r hrul.Irup tnhqtu\шlt

}rtrpl.rш\runrur{urprfurtr durpri}bhhp} Ч"l,jt's
чшrлruu}urulrшurr|nrp1 rutr ri}r2ngLtpb \}rprпnnt{|tg

Ь\rurinturlrЬp

0,0 Х

1362
Llnrrnphp hrurlru3trp}r p1nr2t} L\rurnrlrurlр ur.rrrulr&lrruЬ

чru;rfrrrtrruqpru1plr чшprnru{npntp1 nrtrtrЬp}t

чllшrлurntiurlr nhr-fruq qшn&dnц rrrntldhphg

0,0 x

1370

3.7 2.rurlru3l.rp} p3nr2h rfntшpшqpt{n1 ш11

\rurrrЬqnp[rrulrhpnrrf 2цtuuur\urpqr|ruЬ цLршgb\
rnpшlruфhpшtrhp

(rnn1 1371 + rnn1 1372), ru1ц p{nld.

744r 0,0 0,0 Х

r37l

s[rqb\ul\шh rup&rutrg 1r \ruqtfru\Ьpчntp3nrbhhp]t
trфрruphpnr-3prh}rg hrur..tur3trp}rtr, r|ьp2}rh}ru httput\tu

p1nr2hrпur1[rtr h}rrilrrup\hьp[r rntrop}rtrrfrutrtr qnt1 p}t

(h|rrltrru\ruL rlir2ng \rud n2 lr3nrpur\ruh ш\ш[t|

2hrutrц}ruur-gn1) |rpurgnrrifrg tr цpшdru\tulr rf[r2ngbhp}g

цhrоursbЧ ЬruiuuЬp}r ф[lrrutrurur|nprirutr hrudrup

hшrfru1lrp}r р1nl2h utnrugr|ruЬ tfntrnphp rnprurlruт1pr{rrrЬ

ulpurшp}rh rur1p;nrphhр}g

0,0 Х

r3t r

s}rq}\ul\шb шp&шlrg lr \urqrilu\hpчnrp3nrtr-Lhp[t
trфpruphpnr-1ptb|rg hruriru3up}rtr' r|ьp2irtr[ru Ьttptu\tu

р1nl2hurru1|rh h}rrIhrup\bhp}r urtrop}rlrriurhtr qnr1p}t

(h[rrfЪru\rulr rf}r2ng \шil n2 tr1nrpru\urh ш\ш}{

1hшlrц}rurugn1) }rpшgnr{}rg h цprurfru\rutr rl}r2ngbhptlg

вhгaursbЧ Ьru}uuhp[r ф}r1rrulrurшr|nprfurl.r hrurlшp

hшrIru3lrp[r p1nr2h uшtugr|ruЬ rlnrrпphp rnрrurlurцpr{ruЬ

ъЬpp}rtr ru1p1 nrрlihp}g

0,0

1380
3.8 lшrfur1lrp}r p3nr2Ь r.Inttnpшqt{n1 ш11

\rurnЬqnp}rrulrЬpntri 2цruuш\rupq{ruЬ \шч}шtu1
шprulruфhprпtrЬp (rnnr1 1381 + urnr1 1382)' rrr1ц рr|nrd.

7442 I 0,0 Х 0,0

1381

Lфpшшr|nrp3nilr, dшnurhqnrp3rulr }rpш{nthpn{

ф}rqb\ш\шL rulr&rutrg}rЬ 1r \urqrfur\hрчnrp3ntlr-trhp}rg
hurrfru1trptr$r, r|ьp2[rtr[ru Ьtrpru\ru p3nt2hrпru1[lt

h}riburp\Lhp}r rлtrop}rtrrIrutrh rutrgurЬ qnt3p} ф}rrtbш\шtt
ri}r2ng \rurf n2 lr1ntpru\rub ш\rn}r| 2hrutц|ruшgn1)

|rpulgntrI}g b цpturfru\ruL rf[r2nglrhp|rg \iuч[шtu1
Ьru}uuhp}r ф|rburhuurr|nprirulr hrurllup hrurlur3hp}r p3nr2h

uurшgr|ruЬ rintrnphp. rnpurdruцpr|urb urpшrup}tl

urцp1ntplrhp}g

0,0 Х

1382

Lrftrprurnr|nr-p1ru]:, durnrпlrqntp1rulr }pur{ntlrpn{

ф}rф\ur\rutr шlr&rutrg[rЬ 1r \ruqrfru\Ьpчnrp1nttrlhp}g
hшrfru3lrptr}rlr, r{hp2}rtr[ru hlrpru\ru р3nt2hrrrш3}ttt

h}rtftrurp\trhp}r rntrop|rtrilurtrh rutrgrrrЬ qnr3p}r (h}riltrru\шlt

tf}r2ng \ru{ n2 tr3nlpru\rutr ru\tn|rr| 2hrulrц}ruurgn1)

}rprugntri}rg L цpruilru\ruh rih2ngbьphg \tuч}шut1
Ьru}uuhp}r }pru\rutrrugrfrub hrurlrup hшrfur3lrp|r p3nt2h

urnurgr|ruЬ rfnrurphp. rnpruriurцpr{tuЬ ruprnшp}rlr

ruqp1nrpl-rЬp}g

0,0 Х

1390 3.9 u31h\ruilntrnlrЬp
(urn1 1391+ шn1 1392 + rrrn1 1393) ur3ri Lr|nrtf'
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t,l,l=n rrrnhr fhnr r*tnr-hhhntlluquurqulru{uLlsJuLusult' *r'---r---r-J !

gnnburLruh h huuurpur\ur\rutr ur11 burnurlntplntLhhp
0,0

08 4 J

I 0,0 0,0 0,0

08 5 0 Zrutrqlrurn, tf2ut\ntlpft tr qlnup qon\ luquurul
l-nuulluQouJlru uzlry

nlhg' ' - '

@f qbn{ hhrnu'qnuru\uh h

trutuurqt@

Zurtrqfruur, tf2ur\nqplr tr \pnh (ur11 rpuuhplrtr 2qruu\urhn1)

'_I_l-o

2rrltnhrrtn. rJcurlrnttBh h llpnl'r (ur11 rluruhplrtr 2qruur\urtrnrl)

0,0
08 5 1

0,0 0,0 0,0

08 6 0

0,0
08 6 1

37 067.0 37 067,0 0,0

09 0 0 qr\f}or.r€ohL(rnnr12910+unq29zu+rnn\zyJu+U[u[ZTwaurluI

\PFntIalntlt
nphg'

LtuluurrlqPngru\urh \PPntPl ntlt

Suppru\urtr ptrqhurtrnr-p \ppntp3nttr

78794,0 78794,0 0,0

09 1 0

t8794,0 18794,0

09 1 1

0,0
09 112



09 2 0 Ulr2hur\rupq phrlhurhmp \ppntp3ntlt
0,0 0,0 0,0

lphs'

09 2 1 Zflitrur\utr phlhurhntp \ppntplnth
0,0

09 2 2
Llfr2trru\rupq (gr]rrl) ptrlhruhntp \ppntplntL

0,0.

09 J 0 Lurluhur\urtr riuruhurqfrurur\urh (urphhuururqnpbn\ult)

h rihphh tturuhurqlrurur\urh \pPntPlnth

0,0 0,0 0,0

nrlhg'

09 3 1
LurluLrur\ruh rfuruhurqfruru\urh (uphhurnuqnpbn\ruh) \ppntpSnth

0,0

09 J 2 illrZhl, duruhurqfnnur\urh \ppntplnttr
0,0

09 4 0 trrup&purqmlh \ppntPlnttr
0,0 0,0 0,0

nFhg'

09 4 I
trurp&purqntltr riurutnuqlrurur\urh \ppntpl nth

0,0

09 4 2
Zhurpnthur\ruh tlurutrurqflnru\urtr \ppntplnttr

0,0

09 5 0
Qutn riru\urp4ur\hhplr 24uruur\urpq{nq \ppntplntlt

18273,0 L8273,0 0,0

hg'
09 5 1 Upurur4qpngur\urh luuurlrurpur\ntp3 nth

L8273,0 18273,0

09 5 2
Lprugntglr2 \ppntPlnth

0,0

09 6 0 gppntplruhp rnpunlur4prlnrl odruhrlur\ burnurlntplntbhhp
0,0 0,0 0,0

NPFg'

09 6 I gppnrpluhp urpullurlp{nr1 odurtr4tu\ brunurlntplntLhhp
0,0

09 7 0 \ppur\urh nlnpurnttt htrnurqnulur\tuh h trurluruqbul$t
ur2]uuruttuhPhhP

0,0 0,0 0,0

lFhg'

09 7 1 gppur\tuh nlnpunttl hhtnurqnrnur\urtr h Lur]uurqburl[rtr

ru2|uurtnrubPLhP 

-

0,0

09 8 0 gppntplnth (ur11 4uruhplrL 2qunn\u-rtmr1)
0,0 0,0 0,0

hg'
09 8 1 gppntp3nth (ur11 rluruhplrL 2uiurur\rutmrl)

0,0

10 0 0
unShul.uquL'tlucstuLor'r€nhL

(urnr130 1 0+rnnr13020+tnnr13030+tnn13040+rnnr13050+utnr1

3060+urnr1 3070+rnnr13080+u"rl302ql-

7 000,0 7 000,0 0,0

ru14 prlnuf'

10 1 0 .{unnurnnrl2ntplnttr 1-r urhu2}uruunttrur\ntpSnrh
0,0 0,0 0,0

nphg'

10 1 I .Iurururnnrpntplnth
0,0

10 1 2 Uhur2|uulnnthur\nr-P1 nth
0,0

10 2 0 Ohpntplnth
0,0 0,0 0,0

nphs'

10 2 1 Ohpntplnth
0,0

10 J 0
Zurpurqurur$r \npgpurb rutrd'|rtrp

1000,0 1000,0 0,0

nFhg'

10 J 1
Zrupurqrutnlrh \npgpurb urhd.f Lp

1 000,0 1000,0



10 4 0
Ctrtnurhlrplr urhlurtlhhp h qur{ut\Lhp

0,0 0,0 0,0

NFIIL

l0 4 I
Chururtrfrpfr urtrrlullLhp tr qurrlur\Lhp

0,0

10 5 0 Qnpburqp\ntplnth
0,0 0,0 0,0

npbs

10 5 1 gnpburqr\ntplnth
0,0

10 6 0 trtnu\urpruhurl frh tuqurhntlnth
0,0 0,0 0,0

nlFg'

10 6 1 trLur\tupurhurl |rL urqurhn{nth
0,0

10 7 0 Ung[urlu\urh htuurnt\ urpurnhntplntLLhp (ur11 4tuuhp[tr

2qurur\urtrnl)

6 000,0 6 000,0 0,0

nph'

t0 7 I Ungfrurlur\urtr hurtnnt\ urpurnhntplntbhhp
(ur11 4uruhPirtr 2qurtn\tuhnq)

6 000,0 6 000,0

l0 8 0 Ungfrurlur\urh qur2urqurhntplurh nlnpurnttl

2hrnurqnrnru\urh h huluurqburl|rh ur2]uunnurLptrbp

0,0 0,0 0,0

nFhg'

10 8 1 Ungfrulur\urh qur2uqurhntplurh nlnptnntil

hhururqnuurturtr h hurfu urqb*tltl, *Zt"**,'1'ptthp
0,0

nPhg'

10 9 0
Unglrurlur\rutr qru2rnquhntplnth (ur11 rluruhpfrtr 2qrur'n\urlm1)

0,0 0,0 0,0

nFhg'

10 9 1
Ungfrurlur\ruh qur2urqurLrntplnth (ur11 4uuhplrtr 2quru\utmq)

0,0

10 9 2 Ungfnulu\uh qur2rnrqurhntplurhi urpuniur4prlnq odrutr4u-t\

burnurlntplntLhhp (ur11 4uruhpfrh 2quru\rul-rnq)

0,0

11 0 0 zhu-r,uquL trudFLLblh ?1uuqo'\
cIUZOr.USUShL SnLrlbl (rnnr131 l0)

113 516,5 113 sl6,s 0,0

urlr1 prlntd'

11 1 0
2Z \urnurrlrupntp3urtr h hutirultrptrhpfrh qurhntutnurl|rh $nhr1

113 516,5 113 516,5 0,0

nlbg

11 I 2
22 hu.rdurltrphhpfr qurhntuururl$r $nhr1

113 516,5 I l3 516,5 0,0

IU3UUSULh ZULI.U'[IbSflf'O3UL CFlUrrF UUfgF

UUI.UUCbL ZUUU3L8h'[bqU'{UI.



Zш{Ь1r|шЬ 3
Zш;ruuurrпtr}r 2.ruhpruчhurntp;rutr с[rpru\[r,i*pqh

Urupr.Iur2 Ьlr hrudru3 trp}r tur|ruqrubnl 2020 p{ur\urh}r
.}h\urhrlpЬPh 22-h гobrl 110-L npn2ilurtr

Zus.luо 3.

zЦr.гu3L.Рh tr3ГlhQbr. OufuUbгC' сUS tr3Гlh9bsu3hL OuIUUbгh sLSbUuqhSЦЧuL
.}uUuЧuгqUuL

(hurqrup цprurlnr{)

Snrit,

NN
tr3nl2hururi}rh Ьru}uuЬр}r rrrlrurhuruq|rrnru\rulr 1ururu\urpqiltuh hn1r|ruЬhhp|r

Сlrцшtihlrц
(u.5+u.6)

ш14 p{nrd

Чtup2tu\шtr

druu

sпLr1ш3}1r

rJruu

1 z q 4 э 6

4000 сLг}ЦUьLC OЦfuUbГ(rrrnr14050+un150O0+rrrn1 6000) 474 683,5 474 683.5 0,0

ш1r1 p{nrrf.

4050
ц' сLгdtl8hЧ o.ufuUbг (urnr14100+ rrrn14200+ rnn14300+

utn14400+ urnr14500+ rrrn14600+ шnr14700)
474683,5 474 683,5 0,0

tu;ц p{nld

4100
Цcfu usuL€h чuгpusгпhгфпr.L

(шnц 41l0+ rnn1 4120+ шnr1 4130)
172000,0 172000,0 Х

ur;ц p{ntil

41 10
.tгЦUлч .{6uгqo1 цсfuusuчuг2bг bq 2uчbl-uч6uгLbг

(шn14l 1 l+urn141 1 2+rrrn141 1 4)
172 000,0 172 000,0 Х

nРhs.

4771 -Ц2}uшшn1trhp[r ru2}ururnrrrr{rup&Ьр lr hrur|h1ru{durplrhp 4111 160 000,0 160 000,0

4112
- ntupqlrrвrnpnldl.rbp, qprurfru\шlr fu pru}unruntrftrhp 1r hurrrrnt\

{6urphhp
4t12 12 000,0 l2 000,0 Х

4114 -Ц31 t|tuр&шrrrpnlp;nltrtrЬp 41 15 0,0

4120 trLb1bL tlсfuusuqЦгtbг ьq zu.{trl.цч&цГLbГ (rnnц4l21) x 0,0 0,0 X

nPbg

4121 - trhфh ru2}ururnulr|rup&hp tr hшr|Ь1tur|6rupbbp 4t2l 0,0 Х

4130 Фulur'nrug}r ung[rш1ur\rutr ruчurhnr|nrр1rulr r|6urptrhp (rnnr14l 31 ) x 0,0 0,0 Х

nРbg'

4731 Ung[ш1ru\шh urчtuhnr|ntp1rulr r|druptrhp 4131 0,0 2(

4200
l . 2 otlou3 o r.г€n r.LLbгr' tr.{ u.гl гuL€Lbгr' p bп€ дbгn r'U
(шn1 421O+rnnr1 4220+urnr1 4230+rnnr1 4240+rnn1 4250+шnr1 4260)

126 100,0 126100,0 Х



шJц гdqnld

4210

сцгЛr.LuЧцчuL OufuUbг
(rnnr1421 t+rrrn ц42t2+anq421 3+urn14214+urn142 l 5+шn142 l 6+rnn142 l

7\

x 32 800,0 32 800,0 X

nlFg'

4211 -9npЬurntrru\шtr 1r purlr\ru1|rtr Ьrunru1ntp1nrtrbЬp[r Ьru}uutp 42t1 0,0 Х

4212 -Ltrьpqьrn[r\ Ьrunru3nrp1nr"trlrhp 4212 18 000,0 18 000,0 Х

4213 -Чnrlnrlrru1 Ьrunru1ntp3nrlrtrЬp 4213 13 000,0 13 000,0 Х

4214 -Ч*чl' Ьrunru1ntp1 ntlrlrhp 4214 500,0 500,0 Х

42t5 -Цчruhnr|ruqpru\rulr Ьru}uuhp 42r5 800,0 800,0 Х

42t6 -Qnr-1p]r tr uurpprur{npntrflrhp|r r|rup&ш\ur1nrp1ntb 4216 500,0 s00,0 Х

4277 -ЦprпruqЬprurnhu2ru\rulr Ьш}uuhp 4217 0,0 0,0 Х

4220
qoгoлr'1or.ULtrгr' b.{ сг9usu3nr'гфnr.LLbгh oufu Ubг

(r'n nr142 2 1 +rnn n4222+ ar.ц4223)
Х I 000,0 I 000,0 x

nlFg'

4221 -Lhpplh qnpЬnrцnrillrЬp 4221, 1000,0 1 000,0 Х

4222 -Цprпruuruhtirutцrutr qnpЬnr.1ntrflrtp}r qЬnr{ Ьш}uuhp 4222 0,0 0,0 Х

422З -Ц3 1 шprulruчnprnru1}rlr Ьш}вuhp 4229 0,0 0,0 х

42З0

.tlЦ3tlЦLuqгu3r'L u3I. Ouпu3пr.гd3llhLLbгh tbг}€
trbгor'u

(rnn1423 1 +tnn t142З2+anц4233+urn142 34+urn14235+rnnц42 36+urnц423

7+rnnr14238)

x 29 300,0 29 300,0 Х

npbg'

4231 -.lrup2ru\rulr Ьrunur3nr-p3nrlrLhp 42З1 0,0 0,0 x

4232 -2rurlш\rupq2ru3 }rtr brunш3 nrp3ntbtrЬp +zJz 300,0 300,0 X

+zЭЭ .Ц2}uurrлru\ruqrffr rlruuLruq}rinru\ruL qrupqrugrirrrtr Ьrunш1nrp3nrlrhhp 42З3 0,0 0,0 Х

42З4 -Sh1h\rutn{ru\шL brunru3 nr.p3 ntlrlrhp 42З4 2 000,0 2 000,0 Х

4235 -Чurnшr{urp2ru\urlr Ьrunru1nrp1nr-trtrЬp 4235 0,0 0,0 Х

42З6 -Чhtrgшцru3}tr tr hruhpru3}rtr utrlrц}r Ьrunru3nrp3nrlrlrhр 4236 0,0 0,0 x

4237 -Lhp\ш1 шgnrg2ur\rulr tш}uuЬp 4237 3 000,0 3 000,0

42З8 .Clr4hrutrntp рlrnr3p[r ru11 Ьurnru3nrp1nrlrlrhp 4239 24 000,0 24 000,0

4240
t]3L UuULuqr'sцЧцL ouou3nr'гфnr.LLbгh lrъ€trbгnhu

(шnr14241)

x 2 000,0 2 000,0 Х

nРhg.

4241 -Uruutпuqfu.nru\ruh brunru3 nrpl nrhtrhp 4241 2 000,0 2 000,0 Х



4250
f Lrau5r.Ч Lпгnqnr.U bq .Tlцl.гlцLf}hU (Ьtunш1 nr.p1ntlrlrhp h

1r1 nrpЬp) (rлnq425 l +rnnч4252)
x 26 000,0 26 000,0 Х

nPbg'

4251 -Chlrphp|r tr lulnnt3glrЬpl' вl'гu*shЧ lrnpnqnlri lr чruhчrulrntri 4251 19 000,0 19 000,0 Х

4252
-tlhpЬtrrutrЬp} L uшpprur|npnrriLhp}r вt'гau'shЧ lrnpnqnr-rl lr

чшhчrulrntrl
4252 7 000,0 7 000,0

4260

L3tlhf}bг

(rrrn1426 1 +rrrn ц4262 + vnq4263+rпn142 64+rnnq4265+rnn q4266+anq426

7+urnn4268)

х 3s 000,0 35 000,0 x

nPhg'

4261 -Qpruuhtr3ru\ru1frh bjnrphp h hruqnruu 4261 2 000,0 2 000,0 x

4262 -Ч1nчulr.nlrrnЬuru\ruL шчpшlrplrhp 4262 0,0 0,0 Х

426З
-.{hpruчurrnprцurnrfшlr 1r ntunrgr.Iurb trJ nrphp (ru2}uшtnn1LЬp|t

r|hpruчruшpruurnntrl)
4263 0,0 0,0

4264 -Spurbuчnprnru; }tr tr3 nrptp 4264 l4 000,0 l4 000,0

4265 -Gр2ш\ru ri}r2urr|ru3p|r чru2rnчrulrnr-p3rutr lr q}rrnш\шb lr3nlphp 4265 0,0 0,0 Х

4266 .Цnп12ruчruhш\rulr .l-r 

1rupnpruurnp li3ntphp 4266 0,0 0,0 x

4267 -Чhtrgru1ru3|rh 1r hrulrpru3[rtr ulrtrr1}r h3nrphp 4267 4 000,0 4 000,0 Х

4268 -2rшrпnr.\ Lчrurrrш\ru1}rlr ш11 lt1nrphp 4269 15 000,0 15 000,0 Х

4300 1.3 stlчfluuчKuгLbг (rnn14310+tnnт1 4320+шnr14330) x 0,0 0,0 Х

ur1ц p{nr{

4310 Lbг€r'L snчnuЦa{6ЦгLbг (шn1431 1+rnn14312) x 0,0 0,0 X

nthg'

4311 -Lhpp}rlr urpdhpr1php} rnn\nuш{6шptrЬp 4411 0,0 0,0 Х

4312 -LЬpp|rtr,|*pЧhpl. rnn\nurur|dшphhр 4412 0,0 0,0 Х

4З20 uгs[I€hL srrчnuuq&uгLbг (r'nn14321 +urnqaЗ22) x 0,0 0,0 Х

nРIIg'

z7Эz l -Цpшrupfrlr rupdЬpцphp}r qЬnr{шn\nuru{6шptthp 4427 0,0 0,0 Х

4322 -Црrnшp}rtr .l*pЧьpt' qЬnr{ шn\nuru{dulpLhp 4422 0,0 0,0 Х

4330
ФI}fu uг}fl t.гфnr.LLbгh zbs чunчцо .l6uгLbг

(rrrnr1433 1 +rnn14332+шn14333)
x 0,0 0,0 Х

nlbs'

4331 -Фniurulrru\riшh \nrpuЬp}r рurgruuru\rulr rnruppЬpnrp1ntfu 4431 0,0 Х

4332 -Snr-3dhp 44З2 0,0



4333 -Фn}uшnnrp1nr.lrtrЬp} qЬn{ rrrnrppЬp 44ЗЗ 0,0 Х

4400 1'4 UЛr'trUr'.}r'ЦLtrг (rпnц441 0+r'nnna420) x 37 067,0 З7 067'0 X

ru1ц pr{nrrf

4410
UЛr.trUr'.}huLbг qlbsuЧцъ (2.ul]u3LgЦ3r.L)

Чtlguuчbг.цfl r.гфn}.LLtjгhL (urn1441 1 +rrrnц44|2)
З7 067 '0 З7 067 '0

npbs'

4411
-Unr.рu|rц[ruhhp n2-ф}rlrrutruru\rulr чЬrnш\rutr (hшriru31rpш1$t)

\ruqrfru\tpчntp1 ntlrlrЬp}lr
4511 з7 067'0 37 067,0 x

4412
.Unrpu[rц[rrutrЬp ф|rtrrutruur\rutr чЬrntu\rutr (hulrfru1bpur1}L)

\urqriru\Ьpчnrp3 ntbtrhp[rL
4512 0,0 0,0 Y

4420
Uor.trUhr}r'ЦLbг n2 .IIbsuЧuL (п? 2,цUц3L.РIl3hL)

ч uguuЧ bг,l fl }'гф п r.LLbГhL (rnnr144 21 +arrq4422)
x 0,0 0,0 X

npbg'

4421
-Unrpu}rцfrrutrЬp n2 чhrrrru\rutr (n2 hrurlru1trpur3}rti) n2 фltrшLutu\шl.t

\ruqrIur\hpчntp3 nrhtrhp|rtt
4527 0,0 Х

4422
-Unrpu}rц|rruLЬp n2 чhrnur\rutr (n2 hurrfru1Lpru1[rh) ф}lrrulruш\шt:

\ruqrfur\hpчntp1 nrtrhЬp}tt
4522 0,0 x

4500 i.s тгцuuсLoгzLbг (шn14510+rnn14520+шn14530+rnn14540) 10 000.0 10 000,0 Х

ru3r1 pr{nt-d

4s10
4гuuuсъnгlLbг osuгbгЧг3u чuпuquгot'г€fl r.LLbгhL

(rлn1451 1+rnnцas12)
0,0 0,0 Х

npbs'

4511 -сr'р*st,Ч цpturlru2trnphtrhp ornruphp\р1ru \runurr|rupntp1nrhLЬp}tl 4611 0,0 Y

4512 -чrцчl'**r цprurlш2trnphlrЬp ouшphp\p1 lu \urnrur|rupnrp1nrtrlrhp}tr 4612 0,0 x

4520
.}гuUuсLoг2Lbг Uhgugqu3hL

Чu9uuчbг.цпr'гф3flt'LLbгr'L (rrrn14521+rлnn4522)
x 0,0 0,0 Х

nРbs'

4521
-Cbprugh\ цprurlru2trnphhhр d}r2шqqш1pb

\ruqrlul\hpчnrp3 nl.trhhp}tt
4621 0,0 Х

4522
-Чurчfrrnru1 r1pru{ru2trnphtrhp riir2шqqш3}lt

\urqriru\hpчnlp1 ntlrlrhp}tt
4622 0,0 x

4530
tLгdu3r.Ч .}гuuuсLлгаLbг 4lbsцЧЦL zцsqlloh u3I.

uuЧuг.}uЧLbгr'L (pn1453 l +rrrn14532+шn14533)
0,0 0,0 x

npbg' 2!

4531
- rlrрrugb\ 1prurlru2trnphtrhp чhrnru\rub lr hrurlru1lrpш3}lr n2

ulnlrrnpru3 }tr \ruqrlru\hpчntp3 nrtrlrhp}tr
46з7 0,0 Х

4532
- шprugb\ цprudru2lrnphlrhp чЬrnru\rulr 1r hшrlru3ttpш1}L

runlrrrrpш3|rlr \ruqriur\Ьpчntp1 nilrtrЬp}rtr
4638 0,0 Х



4533 . ЦL вI,гu*sI'\ 1prudru2lrnphtrhp (rnnr1 4534rшnr1 4537 +шn1 4538) 4639 0,0 0,0 Х

ru3ц рr|nrd

45З4

- rnh1ru\rutr }rbplrru\runш{шptlшtr {шp{}LLьp}ll

(rnn1 4535+urnr1 4536)
0,0 0,0 X

npbs' x

4536 ш11hшdш1hplrhpplr 0,0 х

4537 . 2,l чhrnru\шL p;nt2h[Il 0,0 Х

4538 - tц][ 0,0 x

4540
чu.TlhsЦI. .}гuuuсLoгzLbг .tlbstlчuL zusquоh ц3I.

Ul-lЧцг.}uчLbгr'L (rnn1454 1 +rrrnц4542+шn14543)
x 10 000,0 10000,0 х

npfig'

4541
-Чurчirrrrru1 r1pшrIur2bnphtrhp чЬurtu\rutr b hruriru3LpLhp} n2

runlrurpru1}lr \ruqr{ur\Ьpчnr-p1nr.trtrhp[rtt
4655 0,0 Х

4542
-Чrшчfrrnru1 цprurlur2Lnphlrhp чhrnru\rutr lr hrudш;lrplrhp|t

runlrrnpur3 frlr \шqliш\Ьpчnt.p1nrlrtttp}ttt
4656 0,0 Х

454З -Ц31 \шч}rпru1 1prurlru2lrnphtrЬp (rnnr1 4544+rnnr1 4547 +rnnr1 4548) 4657 10 000,0 10 000,0 x

ru3ц p{ntil

4544
- rлtr1ru\rulr }rLptrur\runrur|rupriurt-r iltup{}bhhц}tl

(rnnr1 4545+rnщ 4546)
0,0 0,0 x

nPhg' Х

4546 -22 ru11 hrufш1bpLьp}tt 0,0 Х

4547 -22 чhrnш\шL p1nr2h}tt 0,0 Х

4548 -lцJL 10 000,0 10000 Х

4600
1.6 Uп8huI.uчuL L.гluUsLbг b.l чbLuuгёnсuчLt,г

(rnnц461 0+urn14630+шn14640)
x 8 s00,0 8 s00,0 x

ru3q prlntd

46t0 Un8huluЧuL u.гluzoчor.гd3uL L.ТlцUsLbг 0,0 0,0 x

ru1ц рr|nrrl

4610
- Strru3}rh urlrurЬuntp3nilrhhp}rtr цprurfnr| {6rupr|nr1 ungfrru1ur\urlr

ruчruhnr|nrp1шti {dшpbhp
47t1 0,0 x

4620
_ Ung|rru1ru\rulr ruчruhn{nrp1urtr ptrh1htr trчruurnLhp

Ьtunш3ntp3ntlrlrЬp rlruшnr.gn1bьp}l:
471.2 0,0 Х

4630

Uп8r'uLЦЧuL oq],nr.td3цL .}гЦUuЧuL

uгsЦuu3sпhгd3uutr L.tluusLbг (tr3nh9br'8)
(rnnr1463 1 +rnnq4632+rnnц4633+шnr14634)

x 8 s00,0 8 500,0 X

nPhs'



46ЗI -Zn1rup\ш{npntp1rulr lrчururntrhp p1nr2h[rg 4726 1 000,0 1000,0 Х

46З2 -Чpрrш\rutr' r'I2ur\nr-pru3|rlr lr uчnptnru1}rL trчшuurhЬp p1nt2h[g 4727 1 500,0 I 500,0 Х

46З3 -trtrш\шpшtrш3[rtr lrчшuutLhp p3nr2Ь[tg 4728 0,0 0,0 Х

4634 .Ц31 lrчшuшlrhp р3nr2h}g 4729 6 000,0 6 000,0 x

4640 ЧbLuuгdnсuЧLtrг Geo 4641) x 0,0 0,0 x

nPbg'

4641 -ЧЬhuшрn2ш\lrhp 4741 0,0 0,0

4700

1'7 Ц11Ьш}uuhp

(rrrn147 1 O+rnn q47 20 +лlI147 30+urnr14740+urn1475O+rnnn47 60+вnq47 7

0)

x 121016,5 121 016,5 0,0

ш31 p{nrrf'

4710

L.{hгЦsqпhгфnhLъbг o2 ЧцoЦt{uгuчuL
(2.цU uгuчuчuL) ЧI.IguЦЧbг,Ilлt'гфor'LLbгhL

(rnnq47l l+rnnn4772)

x 0,0 0,0 Х

nlbs'

471r

Strru3}rtr urlrrnЬunrp1nrbLЬpfrh Ьrunш3nr.p3nrlrbЬp tlшшntgnr1

2ruhnt1p 2hЬrnruчlrцnт1 \шqtiш\hpчnrp1nthtrhp}tl
trфprurnr|nl-p1 ntlrlrЬp

4811 0,0 0,0 X

4712
-Lфpшurr|ntp3nrtrLЬp ru11 2u.rhnr1p 2hhrnurчlщnq

\шqilш\hpчntp; nrLbhppr
48t9 0,0 Х

4720

uuгчbг' nцгsuг}r'г qduгLtrг bq soh3dbг' IlгflL.P
ЧцouquгUЦL stlгtrbг UuЧuгг}uЧLbгh чo1uh3

Чhгuг}qnhu bL Ur'u3IIL5 LЧцsUЦUtr
(urn1472 l +r.rr n n47 22+lлrtц47 2З ялnq47 2 4)

x 2 500,0 2 500,0 Х

nРhg.

4721 -Ц2}uшtnш{шp&} фnLц 4821 0,0 Х

4722 -Ц31hшp\hp 4822 500,0 500,0 X

4723 -тlruprnrur1frp {6шpLtp 482З 2 000,0 2 000,0 Х

4724
-тlhrnш\urlr hrurnr{iuЬ|r цшPFhP rfur\rupцur\bhpb Ч"rlrit's ti[{3шhg

tr\шrnrfrurfp \}pшn{nr1 шnr-1 dtp
4824 0,0 Х

4730
.}ЦsuгЦLLbгr' Чп1Ur'3 LсuLllч.luU sЛr.3dbг b{

sflt.suL.PLbГ (шn1473l)
x 0,0 0,0 Х

nРbg.

4731 ..}ruurшprulr}r Ч"'t,il's h2шtrur\i|ruЬ urnr1dЬp lr rnnrqrulrplrhp 4831 0,0 Х

4740

trLuЧtlL tl1bsLbгh3 Чtlu u3L trLuЧtlL .Tlus6uпLbгo.l

uf}u'ц.uo qLuULbгr' чuu .{LuU.{uо.€Lbгh
.IbгuЧuLsLohtl (шnr147 4| +ulrlI147 42)

x 5 000,0 5 000,0 Х

nРFs'



4741
-trtrru\ruh tu1ЬurLhp}rg runru2urgruЬ r.|Lurur|ruЬplrЬpl, ЧrцrJ r|trtuulrhц|t

r|Ьpur\urlrqlrnrd
4841 s 000,0 s 000,0 x

4742
-Ц11 phш\urlr чrutrr6runlrhpnr| urnrugruЬ r|Lruur|ruЬphhp|t

rlhPur\urLqhntd
4842 0,0 х

4750

чurъuquгUцL Uuгur'LLbгr. snгопbLb{lhгd3tlL
zbsbquL€nq uг}ugцsuo qLцULbгh чuU

.{LцU.luOяLbгr' qbгuЧuLqLor.u (rпn1475l)

x 0,0 0,0 Х

nPhg'

4751
-чrцnrurlruprirulr ilшpli|rtrLhp} qnpЬntlrhnl-p1ruL hhurlirutrpnt|

runru2rugruЬ r|trruur|rubptrtpt, Чrurl r{trruutrhp} r|Ьpru\rutrqlrnrd
4851 0,0 Х

4760 Ц11 Ьru}uuЬp (rnn1476l) x 0,0 0,0 Х

nPhg'

4761 .Ц11Ьш}uuЬp 4861 0,0 x

4770 'tluhnrurnrulfrh rifr2ngtrhp (tnnr1477l ) x 113 516,5 113 182,5 0,0

nРbs.

4771 -.tlulhnturnш3frL ilb2nguьp 4891 113 s16,5 113182,5 0,0

4772
ur3гцaqnLu. hruriш3lrp}r p3nt2h[r r|ulp1ru\шb rfruu}r чruhnruшш3[tt

фnt,+I's фntrцur1[rtr rlrrru \rrrrпurpr|nr1 hruur\urgnrritrhр
х 0,0 0,0 Х

5000
tr. Il2 shLЦLUuЧцL uчsr.qLbгh so.nqoцfuUbг

(rnn15 l 00+r'nnц5200+r.rin15 300+rлnr15400)
x 0,0 x 0,0

ul11 р{nr{.

5100
1' 1. zhtГl,I.IЧuL Uh9o3Lbг
(rnn15 I 1 0+urn15 I 20+urnr15 1 30)

0,0 x 0,0

ur11 ptlntd'

5110
сbLяbг b.l сhLnbгфor'LLbг

(rлnr15 1 l 1 +rnnr15 1 12+шn15 l 13)
x 0,0 x 0,0

nPbs'

5111 -сhlrpЬp}r lr 2}rlrntp3ntlrtrhp[r &Ьnp phpnr"rf 5111 0,0 Х

5l 12 -сhhphpfr L 2[rlrnrp1nrlrlrhp}r \runnrgnril 51 12 0,0 Х

5l l3 -сьhphpfr lr 2}rlrntp;ntLtrhp}r \ruч[rшru1 r|Ьprulrnpnqntd 51 13 0,0 х

5r20
I'Ib€t]LuLbг bq Uцг€ц.lnгf}r.uLbг

(urnц5 1 2 1 + rnnr15 1 22+r'rrnr15 123)
x 0,0

^
0,0

пpFg.

5121 -Sprulruчnprnru3 }rh uruppulr|nрnttlbtp 5121 0,0 Х

-.lurp2ru\urh uruppur{npntf trhp 5122 0,0 Х

5123 -Ц11 rlЬpttrrulrЬp lr uшpprur|npnrrllrhp 5129 0,0 х



5130
ц3I. lhI.гLuЧuL uh9o3LbГ (шnr1 5131+rлnr1 5132+rnnr1 5l33+

шnr15134)
х 0,0 x 0,0

nРbg.

flJl -ЦdЬg{nr1 ш\ш}{bhp 5i31 0,0 Х

5132 -o2 lr3nrpru\rub h}illrш\шh il}2ngbЬp 5t32 0,0 x

5133 -Чhnr1hq}rru\шtr pruрrnhqurqpш\шlr Ьш}uutp 5133 0,0 Х

5134 -Lru}uшqЬruhhuurqnurru\urtr Ьш}шuhp 5134 0,0 x

5200 1.2 .TluсцгLbГ (urn152 1 l +rnn1522 l +шn1523 l +шnr15241 ) x 0,0 Х 0,0

ш3ц p{nr{.

5211 .lrurlru1lrpш1|rtr tr2шl.rrп\nrp;шl.r nruqrlru{шрru\rutr чш2шphtp 5271 0,0

5221 -L3ntptp 1r чurpшqшlrhp 5221 0,0 Х

5231 ..{hprur|шdrunp|r hrutilup lrur}urпrnnur|ruЬ ruчprulrplrhp 5231 0,0 Х

5241 -Uчrun{rulr trчrurлш\nr1 чruhr|n1 чru2шptrhp 5241 0,0 x

s300 1.3 truгeгuгdbя uчsr'.{LbГ (rnn1 5311) x 0,0 х 0,0

ru3ц р{ntd.

531 1 .trrup&purpdЬp ш\ш}t|LЬp s31 1 0,0 Х

s400

1.4 2uгsur}гqЦo uчsh.ILbг

(r.rrnr1 54 1 1 +rrrn1 542 1 +r.rrnц 543 1 +шnr15441 )

x 0,0 Х 0,0

ш11p{nrd'

541 1 -Zn.t 541 I 0,0 Х

5421 -llrцhppru3 [rL ш\ш[{Lhp 542r 0,0 Х

5431 -Ц11 pLur\urlr Ьruqnrri nrlrЬgnq ur\rn}rt[rhp 5431 0,0 Х

5441, .fl2 lr1nrpur\rulr 2urpurruцpr|ruь ш\ш}{hhp 5441 0,0 x

6000
q. Il? shLцLUuчuL tlЧshqLbгh r.гu8or.uh8 Uпhsebг

(rnn16 1 00+rnn16200+rлn16300+urnr16400)
Х 0.0 х 0,0

ш31p{nrd.

6100
zr'ULЦЧuL uh9tl3Lbгr' r.гu3llt'Ur.3 Unr.s€bг

(r.nnц6 t l 0+urn16120+шn16 l 30)
x 0,0 Х 0,0

ur3ц p{nltI.

61 l0 цLсuгd qflh3€r' r.гu3гl}'Ur.8 unhs€bг 8111 0,0 Х

6120 сtlгduЧuL qob3.Рr' hгu3Itt'Ur'8 Unhs€bг 8121 0,0 x

6130 ц3L lhULuЧцL Uhgn8ъbгh hгц8or.ur'8 Uohs€bг 8131 0,0 Х

6200 .цuсuгLbгr. r'гu3пhur.8 Uohs€bг (urnr162 10+urnrб220) 0,0 Х 0,0



uiFI Pqnld'

6270
ftЦguuqЦгuЧцL zuuu3L€u3r'L .tluсuгLbгh hгц3nr.uh3

Unr's€bг
8211 0,0 x

6220
Ц3L .tluсuгLbгr' r.гu3nbur'8 uлr.scbг

(rnn1622 1 +rnn16222+urn16223)
x 0,0 Х 0,0

nlbg'

6227 .Цprnrur1pru\rutr чru2ruptrhpfr |rprugnl.tt|rg ilnrrnpЬp 8221 0,0 Х

6222 -ЧЬprur|ru6runp}r hruilrup urчpшbptrЬp}r }rprugnr.rf|rg rlnlшpLp 8222 0,0 Х

6223
.Uчrundurb hrudшp lrru}uruuhur|urЬ чru2ruptrhp|r [rpurgnd}g

rlnr.шrptp
8223 0,0 Х

6300 trцгtгuгdb€ цЧshqLbгr' r'гц3nbur.5 Uor's€bг (trrnц 631 0) Y 0,0 Х 0,0

ш1ц pr|nl.{.

6310 truг2гI'Iгdb€ цчsh.lLbгh r'гu8пr'Uh8 lJлr.s€bг 8311 0,0 Х

6400
2цгsu.}гqЦо цчsr'qLbгr' r'гц5nhUr'8 I'IЛr.sяbг

(rnnr164 1 0+rлn16420+шn16430+urn16440)
x 0,0 х 0,0

ш1r1p{nt-il'

64r0 аo1r' r'гu8or'Ur'8 Unr.s€bг 8411 0,0 x

6420 oqsuЧuг 2uLuonLbгh r'гu8nr.ur'8 Uпr.sяbг 84r2 0,0 Х

6430
tI3L trLцчuL ousor.u ohLb8n1 2,htILuЧЦL uhgn8Lbгr'

hгu8пr.Ur'3 Uor's€bг
8413 0,0 A

644.0
п2 L3Лr.@uчIlL 2uгsц.}tЧuо uЧshqLbгr' hгu3nbuh3

Unr.s€bг
8474 0,0 Х

zu3uusuLh аuLгu.tlbsnhгф3uL сr'гuчh Uuгgh

UuгUuсbL zuuu3\"Р h .[bчuчuг uгсuч3uL



2.rur|h1r|urЬ a

Zru3ruurnrulr}r Zшhpurчhtпnrp3urb с}rpш\} .i*г,qh
Urupriш2ЬL hurriru3lrp[r ru{шqrutrnl 2020 pr|ru\rutr}r

.}Ь\rnhdphpt, 22-l' г*t,q 1 1 0-L npn2drul:

zusчuо 4.

дЦl.ItI3Lgr' tr3лr.gbh Uhgn8Lbгh suгbчbгgh zuчblгlhг.}С

ЧuU г}bsh3l..'sС (.цuЧuUnr.г.}С)

(hruqrup цpшrinф

Zu3uusuLh zuLгu.гIbsflhгф3uL Gr'гuчh Uuгgh

UuгUuсbL zuuu3\,gh 1bЧuчuг ч. uгсuч3uL

S'ф'
NN

Sruрh\rutr huruшurrnr|urЬ ч1urtl

Сtrr1rutlhhp

(u.4 + u.5)

ш1r1p{nl-ri

.lшp2ru\rutr

p1nr-2Ь

$nh4ur3[rtr

р1nt2Ь

1
I 2 3 4 5

8000
сL.}tIUbLс uuчblI}r.г.}С ЧuU

.}b5h8hsС (auЧuunr.г.}C)
0,0 0,0 0,0


